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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 5421 6 2.6 15 40.2 100
2 5420 9.5 2.6 15 63.4 99.9
3 5419 8.3 2.4 15 55.3 99.9
4 5419 7.4 2.4 15 49.3 99.9
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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GCE World Development – WD1 
 


Mark Scheme – Summer 2015 
 
 


(b) For one named natural resource other than solar power: 


(i) describe how this resource is used to meet basic human needs 
and improve people’s lives;      [6]  


 KI 1.2 
 


Must be a natural resource (water, fossil fuel, land, minerals, wood).  
Expect the use of examples: for example water is used for cooking, 
washing, drinking (Level 1); water is used for irrigating crops to 
increase food production (Level 2); use of examples and extended 
detail linking to provision of basic human needs and improving lives 
would reach Level 3, such as piping water to isolated communities; 
water used for sanitation to improve health. 


Level 3 
5-6 marks 


Names resource.  Clear link to meeting basic needs and 
improving lives with specific detail and well used example(s).  
May be one or two ideas in detail or a range in outline. 
 


Level 2 
3-4 marks 


Names resource.  Some link to meeting basic needs or 
improving lives.  May mention example(s). Maximum 3 marks 
if resource is solar power. 
 


Level 1 
1-2 marks 


No named resource.  May mention basic human needs. No 
clear link to improving lives.  Very general.  May name a 
resource and make generalisations about its use with no 
reference to basic human needs. 
 


0 marks No acceptable answer. 
 


 
 








Sticky Note

Another valid point.  This answer is top of level 3 and scored 6 of 6 marks as it has explored more than one idea in detail.



Sticky Note

Linked to improving lives. 



Sticky Note

Another use of water to meet basic human needs.



Sticky Note

Further detail here and some sophisticated ideas.  the link between using water to meet basic human needs and improving lives is made with clarity and detail.



Sticky Note

The candidate has developed the idea of using water to irrigate crops a with some detail and linked to improving farmers' lives.  



Sticky Note

Water is the named natural resource and is clearly stated at the beginning of the answer. The sentence goes on to link water to meeting basic human needs.  this is a very strong beginning to the answer.








Sticky Note

Some good detail and the answer achieves a level 2.  There is no mention of specific basic human needs or detail of the way in which the use of water (possibly to create energy) is improving peoples' lives.  



Sticky Note

Specific detail about how the natural resource of water is being used.  No mention or elaboration of the basic human needs.



Sticky Note

Setting up the detail for a specific example here.  Again, the candidate is writing about improving lives but not giving detail about the basic human needs being met.



Sticky Note

A way in which water is used to meet basic human needs with some specific detail. However, there is no mention or development of what those basic human needs are.



Sticky Note

Does state water as the natural resource first.












Sticky Note

A names natural resource with some link made to meeting basic needs and improving peoples' lives.  If it was re-written in the positive with a little more detail it could go into level 3. As it stands, it is level 2: 4 marks out of 6.



Sticky Note

A simple point that is made clearly.  




Sticky Note

Hinting at the management of water here.



Sticky Note

The candidate is answering the question in the negative, which is unnecessarily complicated and detracts from the clarity of their writing.



Sticky Note

Kibera is a specific example.  The candidate could have located Kibera more precisely and outlined living conditions and access to water.



Sticky Note

Basic human needs.



Sticky Note

Natural resource clearly named.








WORLD DEVELOPMENT – WD1 
Introduction to World Development Issues 


 
 


Theme 1: Development, Resources and Global Citizenship 
 
 
(b) For one named natural resource other than solar power: 
 
(i) describe how this resource is used to meet basic human needs and to improve people’s 
lives; [6] 
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GCE World Development – WD1 
 


Mark Scheme – Summer 2015 
 
 


(ii) outline one approach to managing this resource.   [4] 
KI 4.2 
 
May consider bottom-up/top-down approaches, but you may also see 
answers on sustainable development or possibly privatisation, carbon 
credits.  Responses may include privatisation or other strategies. 
 


Bottom-up – small scale, local needs met, local resources used, local 
people involved in decision making and often the implementation. 
 


Top-down – Large scale, expensive, local people not involved in 
decision making. 
 


Example:  Water 
 


Top-down (1 mark); mega dam projects such as Namada Dam (1 
mark); government and World Bank funded (1 mark); drinking water 
for 18 million people initially, power capacity of 1,450 megawatts, 
irrigation – so multi-purpose (1 mark). 
 
Bottom-up (1 mark); NGO involvement (e.g.WaterAid) (1 mark); work 
with local communities (1 mark); country e.g. Nepal – clean, safe 
water made accessible (1 mark); local community trained to maintain 
the simple system (1 mark), locals pay a small amount for its use (1 
mark). 
 


Point mark. Award 1 mark for approach, point, development, extension or example. Award a 
maximum of 2 marks if a different resource is used from that in (bii).








Sticky Note

A mark is gained here for pumping water on demand.



Sticky Note

A mark is gained here for water points.



Sticky Note

This is an approach to managing water.  It is expressed simply and in limited detail.



Sticky Note

The rest of the answer is very implied.  Overall the answer does not outline an approach to managing water.  It makes two points that are acceptable and so scores 2 out of 4 marks.  Further credit could have been gained by mentioning water privatization, and example of a water company or the work of an NGO.












Sticky Note

Rather vague and non-specific. Insufficient for credit so this answer achieves 2 marks out of 4.



Sticky Note

A mark here  for a named example.



Sticky Note

This statement is credited with a mark as dams are a way of managing water supply.  












Sticky Note

A mark here for the specifics about Mexico.  gives this answer 3 out of 4 marks.



Sticky Note

A mark here for development of detail.



Sticky Note

Gains a mark for a named government controlling water supply.








WORLD DEVELOPMENT – WD1 
Introduction to World Development Issues 


 
 


Theme 1: Development, Resources and Global Citizenship 
 
 
(b) For one named natural resource other than solar power: 
 


(ii) outline one approach to managing this resource. [4] 











































The answer will depend on the group(s) chosen. There could be more than one example 
used. Credit range and depth.  


 
  Examples may well include Dalits – they are seen as dirty, untouchable, 


therefore relegated to worst and most dangerous jobs; they may be denied 
access to places of worship, water and food. Therefore their life expectancy is 
lower and death rates higher. They may experience violence. They may also 
suffer discrimination by teacher, undermining their performance at school. 


   
  Homeless people can be seen as wasters, drug addicts/alcoholics, dirty.  


They cannot gain access to benefits or finance due to the lack of an address.  
They may find it hard to get a job as they look unkempt and employers may 
see the negative image and not want to give them a job. 


 
  Refer to QWC Levels on page 1 when finally awarding the Levels. 
 


Level 3 
8-10 marks 


Named group in detail.  Clear link made to negative 
images and stereotypes reinforcing inequality. 


Level 2 
4-7 marks 


Group named.  Some detail and description of 
inequality and negative image/stereotype.   


Level 1 
1-3 marks 


No named group.  Very general description of 
inequality or negative stereotypes or images. 


0 marks No acceptable answer. 


 








Sticky Note

This papragraph does not address the question set.  It is about the inequality experienced by homeless people, not about the how negative images and stereotypes impact on their experience.  Therefore it does not gain any further credit.  Overall the answer gained level 2: 4  out of 10 marks.



Sticky Note

Simplistic statement about the experiences of the homeless.



Sticky Note

Outline of negative image.



Sticky Note

An appropriate group to choose.








Sticky Note

An appropriate group to choose.



Sticky Note

Specific and clear here about the negative image and where it comes from.







kchapman

Sticky Note

Convincing comment about impact.



Sticky Note

Specific detail about the negative image.



Sticky Note

Fair comment, if unsubstantiated.



Sticky Note

Clear about impact on the experience of teenage mums here and linked to poverty accurately.  Concise writing.



Sticky Note

Very clear point.  Concise and precise writing.  The candidate is addressing the question set.



Sticky Note

Repetitive.  



Sticky Note

An appropriate named group with some detail.  There is a link made to negative images and stereotypes impacting on the experience of teenage mums and the inequalities they face.  Level 3: 8 marks out of 10.  For maximum the link would have been consistent throughout the answer.












Sticky Note

An appropriate group to choose.



Sticky Note

Addresses the question in simple terms.



Sticky Note

A piece of relevant detail; how the negative image impacts on the experience of the Dalits.



Sticky Note

A piece of relevant detail; how the negative image impacts on the experience of the Dalits.







Sticky Note

A piece of relevant detail; how the negative image impacts on the experience of the Dalits.



Sticky Note

Further elaboration of the previous point.



Sticky Note

A piece of relevant detail; how the negative image impacts on the experience of the Dalits.  Expression could be clearer and the link between the negative image and stereotype and the experience of the Dalits could be made more explicit.  This answer scored level 2: 6 marks out of 10.












WORLD DEVELOPMENT – WD1 
Introduction to World Development Issues 


 
SECTION B 


 
Theme 2: Poverty and Inequality 


 
 
 


4 (c) Describe how negative images and stereotypes impact on the experiences of one 
named 
group. [10] 
  


 











